
 

                 

Max

Jo

Jo has ______ more cards than Max.

10

2 + 6 = 8

8 − 4 = 4

4

4



                 

 

One mince pie costs ______ pence.

50p

10p

50p − 10p = 40p

40p ÷ 2 = 20p

?40p

20p 20p

20p



                 

Zoo B now has ______ penguins.

Zoo A

Zoo B

1

3

1

3

1

3

1

3

1

3

1

3
10

10 × 3 = 30

30

30



                 

The full price of the sleigh was ________

60% 40%

£7,542
£7,542 ÷ 6 =

10% = £1,257 

£1,257

10 × £1,257 = £12,570

£12,570



     

            

 

17

323 + 17 = 340

68 51

340 ÷ 5 = 68

68

68

68

68 68

68 − 17 = 51

45

68 + 51 + 45 = 164

164

340G

B

C
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